BATL.DOR

A MEMBER OF THE ABB GROUP

BALDORRELIANCENFR

Product Information Packet

256HAS514

SIZE 2 HELICAL ATTACHMENT 5:1 56C/140TC

Copyright © All product information within this document is subject to Baldor Electric Company copyright © protection, unless otherwise noted.



BALDOR-RELIANCEF Product Information Packet: 256HA514 - SIZE 2 HELICAL ATTACHMENT 5:1 56C/140TC

Specs

Product Series:

TIGEAR-2

Page 2 of 6 BAILDOR

A MEMBER OF THE ABB GROUP




BALDOR-RELIANCEF Product Information Packet: 256HA514 - SIZE 2 HELICAL ATTACHMENT 5:1 56C/140TC

Nameplate NP1753A05
INPUT H.P.[1.5
RATIO|05 R TORQ-INLB[258
CAT./SPEC|256HA514 | [ ] [GR0236C030
DATE CODE

Page 30f6 BAILDOR

A MEMBER OF THE ABB GROUP




BALDOR-RELIANCEPFP

Product Information Packet: 256HA514 - SIZE 2 HELICAL ATTACHMENT 5:1 56C/140TC

Parts List

Part Number Description Quantity
HGO0030A01 RM2 STD HOUSING BODY 56C/143C MTG 1.000 EA
HA4021A04 1/8 NPTF-HX SOC PIPE PLUG TAPER DRY SEAL 1.000 EA
SG0029A01 RM2Q STD PINION SHAFT ASSY, 5:1 .5/8 BOR 1.000 EA
HW5002A57 WALDES N5002-187 BEVELED 1.850 1.000 EA
SG0028A05 RM2 STD OUTPUT GEAR SHAFT ASSY, 5:1 .875 1.000 EA
HW3064G05 3/16 X 1/2 PIN DRIV-LOK TYPE H, HI-ALLOY 2.000 EA
HGO0031A03 RM2 STD HSG CVR 56C/143C 1.000 EA
10XN3816K24 3/8-16 X 1.50 HEX HD CAP SCREW, GRADE 5 4.000 EA
HW1001A38 LOCKWASHER 3/8, ZINC PLT .688 OD, .382 | 4.000 EA
GF0005A02 RM2 GEAR FLANGE MACH 1.000 EA
HW4600D51 NATIONAL# 40X52X7 SINGLE LIP SEAL 1.000 EA
10XN3816K42 3/8-16 X 2.63 HEX HD CAP SCREW, GRADE 5 2.000 EA
10XN3816K22 3/8-16 X 1.38 HEX HD CAP SCREW, GRADE 5 2.000 EA
HW1001A38 LOCKWASHER 3/8, ZINC PLT .688 OD, .382 | 4.000 EA
HW4600D66 CR#9667-NATIONAL#481688 SINGLE LIP SEAL 1.000 EA
MJ1000A90 KLUBERSYNTH UH1-6-460 WORMGEAR OIL 0.082 GA
MJ5004A35 ADHESIVE LOCTITE #243-31 50 ML 0.001 EA
MJ5001A19 LOCTITE #598 ULTRA BLACK, 50 LB PAIL, IT 0.010LB
MG1025N19 MUNSELL 8.5BG 3.57/2.0, GLOSS 30, B/G, 0.030 GA
MN1607 REDUCER RM MAINT UH1 6-460 4/10 1.000 EA
NP1753A05 NAMEPLATE, DODGE GEAR, KLUBER UH1 6-460 1.000 EA
LB1242 ADHESIVE PATCH 1.10 X 2.03 X .045 THICK 1.000 EA
MJ1000B01 ANTISEIZE - ALTEMP Q NB 50, 750 GRAM CAN 0.001 EA
HA3556A01 CAPLUGS T-7X, ORM BORE PLUG 5/8 BORE 1.000 EA

Page 4 of 6 BAILDOR

A MEMBER OF THE ABB GROUP




BALDOR-RELIANCEPFP

Product Information Packet: 256HA514 - SIZE 2 HELICAL ATTACHMENT 5:1 56C/140TC

Parts List (continued)

Part Number Description Quantity
LB5042 TOE TAG, OIL PREFILL KLUBERSYN (5000/bx) 1.000 EA
35PA1000 PKG GRP, PRINT PK1008A06 1.000 EA
HW2513A06 KEY .188 X 1.375 1018 STEEL 1.000 EA
HWO0003D07 USER H/W PKG - 3/8 BOLT & WASHER 1.000 EA

Page 50f6 BAILDOR

A MEMBER OF THE ABB GROUP




BALDOR-RELIANCEF Product Information Packet: 256HA514 - SIZE 2 HELICAL ATTACHMENT 5:1 56C/140TC

No performance data has been
assigned to this product.

Page 6 of 6 BAILDOR
A MEMBER OF THE ABB GROUP




